Unit 3 Homework Assignment

1. Photosynthesis is carried out by ______.

A) chloroplasts

B) consumers

C) the nucleus

D) mitochondria

E) ribosomes

2.What compound directly provides energy for cellular work?

A) RNA
B) glucose

C) ribose
D) DNA

E) fat

Examine the following figure. 
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3.Which of these stages occur(s) in the cytoplasm?
A) glycolysis

B) citric acid cycle

C) electron transport

D) glycolysis and citric acid cycle

E) citric acid cycle and electron transport

.

4.Which of these stages occur(s) in the matrix?
A) glycolysis

B) citric acid cycle

C) electron transport

D) glycolysis and citric acid cycle

E) citric acid cycle and electron transport

5.Which of these stages occur(s) in the inner membrane of Mitochondria (Hint: Refer to figure 7.8 in the textbook)?
A) glycolysis

B) citric acid cycle

C) electron transport

D) glycolysis and citric acid cycle

E) citric acid cycle and electron transport

6. Aerobic cellular respiration generates about ______ ATP from two glucose.

A) 1

B) 2

C) 6

D) 76
E) The number generated depends on whether the end product of aerobic respiration is lactic acid or ethyl alcohol.

7. Where do the bubbles in beer come from?
8. Glycolysis yields two molecules of pyruvate, two ATP, and two NADH + H+, regardless of whether oxygen is present or not. What are the fates of these molecules in the absence of oxygen? What would happen if NADH + H+ was not recycled?
9. Fermentation

a. takes place in the mitochondrion.

b. takes place in all animal cells.

c. does not require O2.

d. requires lactic acid.

e. prevents glycolysis.
10.  The citric acid cycle

a. has no connection with the respiratory chain.

b. is the same thing as fermentation.

c. reduces two NAD+ for every glucose processed.

d. produces no ATP.

e. takes place in the mitochondrion
11. Compared with fermentation, the aerobic pathways of glucose metabolism produce

a. more ATP.

b. pyruvate.

c. fewer protons for pumping in the mitochondria.

d. less CO2.

e. more oxidized coenzymes.
12.  Plants give off O2 because (refer to figure 6.7)
a. O2 results from the incorporation of CO2 into sugars.

b. they do not respire; they photosynthesize.

c. water is the initial electron donor, leaving O2 as a photosynthetic by-product.

d. electrons moving down the electron chain bind to water, releasing O2.

e. O2 is synthesized in the Calvin cycle.

13. Because of the properties of chlorophyll, plants need adequate _______ light to grow properly.

a. green

b. violet and red

c. infrared

d. ultraviolet

e. blue and blue-green

14. The Calvin cycle results in the production of

a. glucose.

b. starch.

c. rubisco.

d. catalase
e. ATP.

15. Which part of cellular respiration produces the most NADH?
A) electron transport chain

B) citric acid cycle

C) hydrogenation

D) glycolysis

E) Calvin cycle
